

Chapter 1: First Order Differential Equations: Types of Equations

- 1) Solve the following differential equation by using method of separation variables.

$$\frac{x+4}{y^2+3} = x^2 y \frac{dy}{dx}$$

$$dx \frac{x+4}{y^2+3} = x^2 y dy$$

$$dy x^2 y = dx \frac{x+4}{y^2+3}$$

$$dy y(y^2+3) = dx \frac{x+4}{x^2}$$

$$\int dy y^3 + 3y = \int \frac{x}{x^2} + \frac{4}{x^2} dx$$

$$\frac{y^4}{4} + \frac{3y^2}{2} = \int \frac{1}{x} + 4x^{-2} dx$$

$$\frac{y^4}{4} + \frac{3y^2}{2} = \ln|x| - \frac{4x^{-1}}{-1} + C$$

$$\frac{y^4}{4} + \frac{3y^2}{2} = \ln|x| - \frac{4}{x} + C$$

- 2) Solve the following differential equation by using homogeneous equation method

$$\frac{dy}{dx} = \frac{y^2}{xy - 4x^2}$$

① $F(x, y) = (xy)^2$
 $x + xy - 4(x+y)^2$
 $= x^2 (y^2)$
 $x^2 (xy - 4x^2)$
 $= F(x, y) \rightarrow$ homogenous proven

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{x^2}$$

3) Solve the following differential equation by using linear equation method.

$$x \frac{dy}{dx} + y = x e^x$$

① $\frac{dy}{dx} + \frac{y}{x} = \frac{1}{x} e^x$

② $P(x) = \frac{1}{x}$ $Q(x) = \frac{1}{x} e^x$

$$I = e^{\int P(x) dx} = e^{\int \frac{1}{x} dx} = e^{\ln x} = x$$

$$I = x$$

$$I = x$$

③ $I(y) = \int I \cdot Q(x) dx$

$$x y = \int x e^x dx$$

$$x y = x e^x - e^x + C$$

$$y = \frac{x e^x - e^x + C}{x}$$

- ILUPT

$u = x$ $du = dx$
 $\frac{du}{dx} = 1$ $u = e^x$

$$= uv - \int v du$$

$$= x e^x - \int e^x dx$$

$$= x e^x - e^x + C$$

4) Exact equatin

$$(1) (3x^2y - 2y) \frac{dy}{dx} = -(3xy^2 + 2x)$$

$$(3x^2y - 2y) dy + (3xy^2 + 2x) dx = 0$$

$M dx + N dy = 0$

$$(3xy^2 + 2x) dx + (3x^2y - 2y) dy = 0$$

$$M = 3xy^2 + 2x$$

$$\frac{dM}{dy} = 6xy$$

$$N = 3x^2y - 2y$$

$$\frac{dN}{dx} = 6xy$$

$$\frac{dM}{dy} = \frac{dN}{dx}$$

(Exactness proven)

$$(2) \begin{aligned} \pi &= \int M dx + \phi(y) \\ &= \int 3xy^2 + 2x dx + \phi(y) \\ &= \frac{3x^2y^2}{2} + 2x + \phi(y) \end{aligned}$$

$$(3) \frac{d\pi}{dy} = 3x^2y - 2y$$

$$3x^2y - 2y = 3x^2y + \phi'(y)$$
$$\phi'(y) = -2y$$

$$(4) \begin{aligned} \phi(y) &= \int \phi'(y) dy \\ &= \int -2y dy \\ &= -y^2 \\ &= -y^2 \end{aligned}$$

$$(5) \pi = \frac{3x^2y^2}{2} + x^2 - y^2 = C \quad \text{where } C = -A$$

Application of First Order Differential Equation

1.

$$\frac{dP}{dt} = kP(t)$$

$$\int \frac{1}{P(t)} dP = \int k dt$$

$$\ln P(t) = kA + c$$

$$P(t) = A e^{kt}$$

$$P(t) = A e^{kt} \quad ; A = e^c$$

2.

$$t=0, \text{ ~~1000~~ } 50 \text{ K}$$

$$t=2, 450 \text{ K}$$

$$t=5, ?$$

$$\textcircled{1} P(0) = A e^{k \cdot 0}$$

$$= 50 \cdot e^{k \cdot 0}$$

$$\textcircled{2} \text{ At } t=2$$

$$P(2) = A e^{k \cdot 2}$$

$$450 \text{ K} = 50 e^{k \cdot 2}$$

$$e^{k \cdot 2} = \frac{450 \text{ K}}{50 \text{ K}}$$

$$e^{k \cdot 2} = 9$$

$$k = \frac{\ln 9}{2}$$

$$k = 1.0986$$

$$\textcircled{3} \text{ At } t=5$$

$$P(5) = A e^{k \cdot 5}$$

$$= 50 \cdot e^{1.0986 \times 5}$$

$$= 50 \cdot e^{5.493}$$

$$= 50 \cdot (243)$$

$$= 12150$$

$$3) \quad t = 0, 100$$

$$t = 10, 430$$

$$t = 25, 7$$

$$t = 40, ?$$

$$\textcircled{1} \quad t = 0,$$

$$P(0) = A_0 e^{kt}$$

$$= 100 e^{k \cdot 0}$$

$$\textcircled{2} \quad t = 10$$

$$430 = 100 e^{k \cdot 10}$$

$$e^{k \cdot 10} = \frac{430}{100}$$

$$e^{k \cdot 10} = 4.3$$

$$k = \ln \frac{4.3}{10}$$

$$10$$

$$k = 0.150407737$$

$$\textcircled{3} \quad \text{At } t = 25$$

$$P(25) = A_0 e^{kt}$$

$$= 100 e^{0.150407739 \cdot 25}$$

$$= 113.03$$

$$= 113.03$$

$$= 113.03$$

$$\text{at } t = 40$$

$$P(40) = 100 e^{0.150407739 \cdot 40}$$

$$= 100 \cdot 6.01309587$$

$$= 4180.6$$

Second Order Differential Equations: Homogeneous Equations

1) Find the solution of differential equations.

a) $3 \frac{d^2 y}{dx^2} + \frac{dy}{dx} = 0$, $y(0)=1$, $y'(0)=-1$

$$3m^2 + m = 0$$

$$(m-0)(3m+1) = 0$$

$$m_1 = 0, m_2 = -\frac{1}{3}$$

$$y(x) = A e^0 + B e^{-\frac{1}{3}x}$$

$$= A + B e^{-\frac{1}{3}x}$$

$$y'(x) = -\frac{1}{3} B e^{-\frac{1}{3}x}$$

$$y(0) = 1$$

$$1 = A + B e^{-\frac{1}{3}(0)}$$

$$1 = A + B$$

$$A = 1 - B$$

$$= 1 - B$$

$$= -2$$

$$y'(0) = -1$$

$$-1 = -\frac{1}{3} B e^{-\frac{1}{3}(0)}$$

$$-1 = -\frac{1}{3} B$$

$$B = 3$$

$$y(x) = -2 + 3 e^{-\frac{1}{3}x}$$

b) $16 \frac{d^2 y}{dx^2} - 40 \frac{dy}{dx} + 25 y = 0$, $y(0)=3$, $y'(0)=-9$

$$16m^2 - 40m + 25 = 0$$

$$(4m-5)(4m-5) = 0$$

$$m = \frac{5}{4}$$

$$y(x) = (A + Bx) e^{\frac{5}{4}x}$$

$$= A e^{\frac{5}{4}x} + B x e^{\frac{5}{4}x}$$

$$y'(x) = \frac{5}{4} A e^{\frac{5}{4}x} + B \left[\frac{5}{4} x e^{\frac{5}{4}x} + e^{\frac{5}{4}x} \right]$$

$$y(0) = 3$$

$$3 = A e^{\frac{5}{4}(0)} + B(0) e^{\frac{5}{4}(0)}$$

$$3 = A$$

$$A = 3$$

$$y'(0) = -9$$

$$-9 = \frac{5}{4} A + B \left[\frac{5}{4} \cdot 0 + 1 \right]$$

$$-9 = \frac{5}{4} (3) + B$$

$$-9 = \frac{15}{4} + B$$

$$B = -\frac{51}{4}$$

$$y(x) = (3 - \frac{51}{4}x) e^{\frac{5}{4}x}$$

Second Order Linear Differential Equations: Non-homogeneous Equations

1) Find the solutions of differential equation:

a) $\frac{d^2 y}{dx^2} + 4\frac{dy}{dx} + 5y = 2e^{-2x}$ $y(0) = 1, y'(0) = -2$

$m^2 + 4m + 5 = 0$

$a=1, b=4, c=5$

$m = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$

$= \frac{-4 \pm \sqrt{4^2 - 4(1)(5)}}{2(1)}$

$= \frac{-4 \pm \sqrt{16 - 20}}{2}$

$= -2 \pm i$

$\alpha = -2, \beta = 1$

$y_h = e^{-2x} (A \cos x + B \sin x)$
 $\quad \quad \quad e^{-2x} (A' \cos x - x \times B' \sin x)$

② $y_p(x)$

$r(x) = 2e^{-2x}$

$y_p(x) = \frac{2}{x} (e^{-2x})$

$v = 0 \quad (e^{-2x})$

$v = 1 \quad (e^{-2x})$

$\frac{2}{3} x e^{-2x}$

$y_p(x) = \frac{2}{3} x e^{-2x}$

$y_p'(x) = -2(\frac{2}{3} x e^{-2x}) + 2(\frac{2}{3} e^{-2x})$

$y_p''(x) = -2[2(\frac{2}{3} x e^{-2x}) + 2(\frac{2}{3} e^{-2x})] +$

$2[2(\frac{2}{3} e^{-2x}) - 2(\frac{2}{3} x e^{-2x})]$

$y_p''(x) = -2[2(\frac{2}{3} x e^{-2x}) + 2(\frac{2}{3} e^{-2x})] + 2[2(\frac{2}{3} e^{-2x}) - 2(\frac{2}{3} x e^{-2x})] +$

$= -2[2(\frac{2}{3} x e^{-2x}) + 2(\frac{2}{3} e^{-2x}) - 2(\frac{2}{3} e^{-2x}) - 2(\frac{2}{3} x e^{-2x})]$

$= -2[2(\frac{2}{3} x e^{-2x}) - 2(\frac{2}{3} x e^{-2x})]$

$= -2[2(\frac{2}{3} x e^{-2x}) - 4(\frac{2}{3} x e^{-2x})]$

$= -2[2(\frac{2}{3} x e^{-2x}) - 4(\frac{2}{3} x e^{-2x})]$

③ $\beta C x e^{-2x} - \beta e^{-2x} + 4[\frac{2}{3} x e^{-2x} + 2(\frac{2}{3} e^{-2x})] + 5[(\frac{2}{3} x e^{-2x})] = 2e^{-2x}$

$\beta C x e^{-2x} - \beta e^{-2x} + \beta C x e^{-2x} - \beta C x e^{-2x} + 5C(\frac{2}{3} x e^{-2x}) = 2e^{-2x}$

$-3(\frac{2}{3} x e^{-2x}) + \beta e^{-2x} = 2e^{-2x}$

$-3(\frac{2}{3} x e^{-2x}) = 0$

$\beta C = 0$

$C = 0$

$$y(x) = e^{-2x} (A \cos x + B \sin x) + D$$

$$y(x) = e^{-2x} (A \cos x + B \sin x)$$

$$y(0) = 1$$

$$1 = e^{-2(0)} (A \cos 0 + B \sin 0)$$

$$1 = 1(A)$$

$$A = 1$$

$$y'(x) =$$

$$v = e^{-2x}$$

$$v' = -2e^{-2x}$$

$$u = A \cos x + B \sin x$$

$$u' = -A \sin x + B \cos x$$

$$y'(x) = e^{-2x} [-A \sin x + B \cos x] + (-2e^{-2x}) [A \cos x + B \sin x]$$

$$y'(x) = -2$$

$$-2 = e^{-2(0)} [-A \sin 0 + B \cos 0] - 2e^{-2(0)} [A \cos 0 + B \sin 0]$$

$$-2 = B - 2A$$

$$-2 = B - 2A$$

$$B = 0$$

$$y(x) = e^{-2x} (\cos x)$$

b) $\frac{d^2 y}{dx^2} + 2 \frac{dy}{dx} + dy = 5x + 1$ $y(0) = 1$, $y'(0) = 2$

$$m^2 + 2m + 1 = 0$$

$$a = 1, b = 2, c = 1$$

$$m = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$= \frac{-2 \pm \sqrt{2^2 - 4(1)(1)}}{2}$$

$$= \frac{-2 \pm \sqrt{4 - 4}}{2}$$

$$= \frac{-2 \pm \sqrt{0}}{2}$$

$$= -1 \pm 0$$

$$= -1$$

$$y_h = e^{-x} (A \cos x + B \sin x)$$

$$y_p = c(x+d)$$

$$v = 0: (x+d)$$

$$y_p = c(x+d)$$

$$y_p' = c$$

$$y_p'' = 0$$

$$0 + 2c + 2c(x+d) = 5x+1$$

$$2c + 2c(x+d) = 5x+1$$

$$2c = 5$$

$$2c + 2d = 1$$

$$2c = 5$$

$$2c + 2d = 1$$

$$c = \frac{5}{2}$$

2

$$2d = -4$$

$$d = -2$$

$$y_p = \frac{5}{2}x - 2$$

$$y(x) = e^{-x}(A \cos x + B \sin x) + \frac{5}{2}x - 2$$

$$y(0) = 2$$

$$y'(0) = 1 = e^{-0}[A \cos 0 + B \sin 0] + \frac{5}{2} - 0$$

$$1 = A - \frac{5}{2}$$

$$A = 3$$

$$u = e^{-x}$$

$$v = A \cos x + B \sin x$$

$$u' = -e^{-x}$$

$$v' = -A \sin x + B \cos x$$

$$y'(x) = e^{-x}[-A \sin x + B \cos x] + \frac{5}{2} - e^{-x}[A \cos x + B \sin x] + \frac{5}{2}$$

$$y(x) = e^{-x}[-A \sin x + B \cos x] + \frac{5}{2}x - 2$$

$$y'(0) = 2$$

$$2 = [B - A] + \frac{5}{2}$$

$$2 = -3 + B + \frac{5}{2}$$

$$2 = -3 + B + \frac{5}{2}$$

$$2 = -3 + B + \frac{5}{2}$$

$$2 = -3 + B + \frac{5}{2}$$

$$2 = -3 + B + \frac{5}{2}$$

$$2 = -3 + B + \frac{5}{2}$$

$$y(x) = e^{-x}(3 \cos x + \frac{7}{2} \sin x) + \frac{5}{2}x - 2$$

Chapter 3: Laplace Transform

1) Find the Laplace transform of the following functions.

a) $f(t) = t \sinh 2t$

$$\int \sinh 2t = \frac{2}{s^2 - 4}$$

$$\begin{aligned} \int t \sinh 2t &= (-1)' \frac{d}{ds} \left[\frac{2}{s^2 - 4} \right] & u=2 & v=s^2-4 \\ & & u'=0 & v'=2s \\ &= -1 \left[\frac{0 - 4s}{(s^2 - 4)^2} \right] & & \\ &= \frac{4s}{(s^2 - 4)^2} \end{aligned}$$

b) $f(t) = t \cos 5t$

$$\int \cos 5t = \frac{s}{s^2 + 25}$$

$$\begin{aligned} \int t \cos 5t &= (-1)' \frac{d}{ds} \left[\frac{s}{s^2 + 25} \right] & u=s & v=s^2+25 \\ & & u'=1 & v'=2s \\ &= -1 \left(\frac{s^2 + 25 - 2s^2}{(s^2 + 25)^2} \right) & & \\ &= -1 \left(\frac{-s^2 + 25}{(s^2 + 25)^2} \right) = \frac{s^2 - 25}{(s^2 + 25)^2} \end{aligned}$$

c) $f(t) = 2t e^{4t}$

$$\begin{aligned} \int e^{4t} &= \frac{1}{s-4} & u=1 & v=s-4 \\ & & u'=0 & v'=1 \\ &= 2 \left[(-1)' \frac{d}{ds} \left[\frac{1}{s-4} \right] \right] & & \\ &= 2 \left[\frac{1}{(s-4)^2} \right] & & \\ &= \frac{2}{(s-4)^2} \end{aligned}$$

$$(2) F(s) = 5s^2 e^{-s}$$

$$\int e^{-s} = \frac{1}{s+1} = 5 \int \frac{(s+1)^2 \frac{1}{s^2} \left[\frac{1}{s+1} \right]}{ds}$$

$$u=1 \quad v=s+1 \\ u'=0 \quad v'=1$$

$$= 5 \int \frac{1}{(s+1)^2}$$

$$u=1 \quad v=(s+1)^2 \\ u'=0 \quad v'=2(s+1)$$

$$= 5 \int \frac{2(s+1)}{(s+1)^3}$$

$$= 5 \int \frac{2}{(s+1)^2}$$

$$= \frac{10}{(s+1)} \neq$$

2) Find the inverse Laplace transforms of the following functions.

$$a) F(s) = \frac{4}{s^3} = 4 \int \frac{1}{s^3} = \frac{4}{2} \left(\frac{2!}{s^{2+1}} \right) = 2t^2$$

$$b) F(s) = \frac{1}{s^7} = \frac{1}{720} \left(\frac{6!}{s^{7+1}} \right) = \frac{1}{720} t^6 \neq$$

$$c) F(s) = -\frac{2}{s^6}$$

$$\therefore -2 \int \frac{1}{s^6} = -\frac{2}{120} t^5 = -\frac{1}{60} t^5 \neq$$

$$d) F(s) = \frac{2s}{s^2+4} \quad \therefore f(t) = 2 \int \frac{s}{s^2+4}$$

$$= 2 \int \frac{1}{s^2+4} \quad \text{work } \rightarrow$$

$$= \frac{2}{2} \sin 2t \neq$$

Laplace Transforms: Initial Value Problems

1) Use the method of Laplace Transforms to find the solution of the following initial value problems.

a) $\frac{dy}{dt} + 2y = 0$; $y(0) = 2$

$$\int y' + 2 \int y = \int 0$$

$$sY - y(0) + 2Y = 0$$

$$sY - 2 + 2Y = 0$$

$$Y(s+2) = 2$$

$$Y(s) = \frac{2}{s+2}$$

$$y(x) = \int \frac{2}{s+2} = 2e^{-2x}$$

b) $y' - y = e^{-x}$; $y(0) = -1$

$$\int y' - \int y = \int e^{-x}$$

$$sY - y(0) - Y = \frac{1}{s+1}$$

$$sY + 1 - Y = \frac{1}{s+1}$$

$$Y(s-1) = \frac{1}{s+1} - \frac{1}{s+1}$$

$$Y(s) = \frac{1-s-1}{(s+1)(s-1)}$$

$$Y(s) = \frac{-s-2}{(s+1)(s-1)}$$

$$y(x) = \int \frac{-1/2}{s+1} + \int \frac{-1/2}{s-1}$$

$$= -\frac{1}{2} \int \frac{1}{s+1} - \frac{1}{2} \int \frac{1}{s-1}$$

$$= -\frac{1}{2} e^{-x} - \frac{1}{2} e^x$$

$$\frac{A}{s+1} + \frac{B}{s-1} = -s$$

$$A(s-1) + B(s+1) = -s$$

$$As - A + Bs + B = -s$$

$$s(A+B) - A + B = -s$$

$$A+B = -1 \quad -A+B = 0$$

$$A+A = -1 \quad B=A$$

$$2A = -1 \quad B = -\frac{1}{2}$$

$$A = -\frac{1}{2} \quad B = -\frac{1}{2}$$

c) $y' + y = 1$; $y(0) = 1$

$$\int (y' + y) = \int 1$$

$$sYs - y(0) + Ys = \frac{1}{s}$$

$$y(x) = e^{-x} \left[\int \frac{1}{s} + \int \frac{0}{s+1} \right]$$

$$= 1 - x$$

$$sYs - 1 + Ys = \frac{1}{s}$$

$$Ys(s+1) = \frac{1}{s} + \frac{1(s+1)}{s(s+1)}$$

$$Y(s) = \frac{1+s}{s(s+1)}$$

$$\frac{1+s}{s(s+1)} = \frac{A}{s} + \frac{B}{s+1}$$

$$A(s+1) + Bs = 1+s$$

$$As + A + Bs = 1+s$$

$$A + B = 1 \quad A = 1$$

$$1 + B = 1$$

$$B = 0$$

d) $2y' + y = x$; $y(0) = 2$

$$2sY + Y = \frac{x}{s^2}$$

$$2(sYs - y(0)) + Ys = \frac{1}{s^2}$$

$$2(sYs - 2) + Ys = \frac{1}{s^2}$$

$$2sYs - 4 + Ys = \frac{1}{s^2}$$

$$Ys(2s+1) = \frac{1}{s^2} + \frac{4(s^2)}{s^2}$$

$$Y(s) = \frac{1+4s^2}{s^2(2s+1)}$$

$$1+4s^2 = As(2s+1) + B(2s+1) + C(s^2)$$

$$1+4s^2 = 2As^2 + As + 2Bs + B + Cs^2$$

$$1+4s^2 = s^2(2A+C) + s(A+2B) + B$$

$$2A+C=4 \quad A+2B=0 \quad B=1$$

$$2(-2)+C=4 \quad A+2=0$$

$$-4+C=4 \quad A=-2$$

$$C=8$$

$$y(x) = \int \frac{-2}{s} + \int \frac{1}{s^2} + \int \frac{8}{2s+1}$$

$$= -2 + x + \frac{8}{2} \int \frac{1}{s+(1/2)}$$

$$= -2 + x + 4e^{-x/2}$$

$$\frac{A}{s} + \frac{B}{s^2} + \frac{C}{2s+1} = \frac{1+4s^2}{s^2(2s+1)}$$